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15811100 hrug hq 380 1750 665000

15612180 Ulnr-p \q 310 40 12400

15851100 Uu:hurnnh hq 320 155 49600

L)55 L Luu hurftutq sz ttq 4500 200 900000

15541100 uurhhn a) hq 2000 15 30000

15511100 llurp qt
L 400 300 1 20000

15421100 urphruEurrl\I. &hfu q2
L 900 15 1 3500

15717120 uu{rup}r rl}ru s/ Iq 3600 190 684000

1.5172160 hurlh rihu +/ Llq 1 500 200 300000

03142510 hullllhp huur 80 900 72000

nuul $/ qq o3u JU 1 9500

15614200 hplurprurlmtt pnh& +/ qq 550 27500

15616000 hl4\u&u{up Iq 700 100 70000

15617000 cnphhur&ur{urp Qq 400 70 28000

15331154 nlnn qZ tlq 500 1 5000

1s831000 2urpurpullurq q2 \q 380 200 76000

75872400 Un riurlin bhnurhnh qt \e 180 9000

15333100 urnrlulnlr riurEnth a\t qq 900 31 500

15863200 fdht uh qt trq 5000 'iq 7500

15841100 hurburn ttq 3500 1 3500

L5332412 )ulih) \q 1700 z 3400

t5842tt0 llntr$hur +/ \e 1 600 OU 96000

153 11100 9urprnnpfr1 rif 2[h 2u{u}r +L \q 220 o4n 209000

15331161 unlu qZ \q zcu JU 7500

03221100 purqnr-\ alt \q 200 75 1 5000

03221t10 qulqulp qq 300 BO 24000

o322r470 \urr1urilp qt ttq 150 200 30000

03222127 riurtrnurnhh \q 400 50 20000

03222100 purhurh \q 125 93750

03222128 tutidnp q2 \q 400 250 1 00000

03222129 ulutr& \q ocu 20 1 3000

15551600 ilrubnttr \q 500 190 95000



t5331767 9urtrurl[ loruttF a.2 \*q 200 120 24000

15332290 ehd qZ \q 1 000 2,5 2500

15331151 lnpfr hunnlr\ur{np ft uprlfr/ a-t \q 1 500 5250

L58723tO lnpurgurE 4urrlrhhrnhph q2 rnnL+ 150 10 I 500

15512000 Bprluruhp q/ \q 1200 65 78000

15877256 h*pilbp qqulh{ urrlurgurb \q 3500 19250

15831710 huiflur +L ttq 1 000 25 25000

15821500 ,l*$rl. YZ bq 1 100 25 27500

15331170 Surp4hrl purr1gp \/ \q CUU 25 12500

15618000 Flqmn q/ ttq 500 1 000

03222119 hurnhhq cI2 \q 800 100 80000

15623200 uqfnnur\ur&urtlurp +/ \q 400 JU 1 2000

15821500 plu{ubpup1Jtp qZ L1q 1200 42000

03221126 hurqurp qZ \*nt 200 40 8000

0322tr22 +rIilhll q2 tlq 250 20 5000

15331152 uhuhn q2
hq 1 100 10 1 1000

03222118 hhunnL hruu 200 1 0000

03221129 uqurLurlu qz t1tuul 200 6000

15613350 '{upuu\[ $up[1hhp \+/ qq 1200 25 30000

03222116 Irh.lh qZ ttq 650 zu 1 3000

03221430 Fnnbnrh q2 !q 1 300 20 26000

15332410 rltp q2
hq 3500 zu 70000

1 561 3350 {urpuur\[ $upflbhp (lotrol*) \q 2100 10 21 000

03211400 qurnh&rurlurp /n pen oexa/ hq 350 10 ?Ann

15898000 turinnhr a-t hq 1 500 4,5 O'/CU

15872600 unnru qZ Lq 1 500 0,5 750

15619000 hurdurn q2 hq 1 500 0,5 '7F.n.
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